What's going wrong

in this picture?




This is the

Brasvellbreen glacier

in Norway
because of global warming and
rising sca levels.
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What's going wrong
in this picture?




Nests of scabirds

called northern
gannets have
in them, polluting their habitat and
causing
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A Galapagos sca lion is

, causing stress and

difficulties for the animal.
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Shipwreck debris is
in the ocean, and

this
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This Ad¢lie penguin
has a tracker taped to

its back that senses location and
behavior, which can cause
for the animal.




What's going wrong
in this picture?




A ship in Antarctica is

surrounded by melting ice,

, adrastic effect of

global warming.




